THI0EE HESBILEATHORER SXTEHES E2B D1t
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BERE LEEREWNA) BIFERE (B) #FH(A—B)
101 N EERIZEHINE 151,870,055 160,060,376 -8,190,321
102 Z B I 91,265,797 90,726,800 538,997
i 103 FAH XIFRHEINE 18,354,495 17,627,870 726,625
#[104 BAVEN Y —ERFEEING 223,518,000 213,499,545 10,018,455
105 EEEHFMSINE 128,333 118,000 10,333
106 ZDHhDIREE 0 0 0
Y—ERFEBREEE (1) 485,136,680 482,032,591 3,104,089
T 201 \HE 252,161,890 249,025,746 3,136,144
i’ 202 EXE 64,480,503 65,955,730 -1,475,227
B (203 EBE 74,089,023 66,430,191 7,658,832
g 204 FRHXEEXER 18,677,298 17,894,294 783,004
ﬁ 205 FIAEGINEHLE 0 0 0
B 28 206 JATEEIE 61,872,291 61,447,761 424,530
m 207 EEHBEEHAET S MRS -32,253,291 -32,477,331 224,040
208 EE{#BS AT SHMIEE 0 0 0
209 HHURTHEZE 0 0 0
210 BURTHES|HSHEA 0 0 0
211 20N ER 0 0 0
Y—ERFBE M (2) 439,027,714 428,276,391 10,751,323
H—EREBIEBEL(3)=(1)-(2) 46,108,966 53,756,200 ~17.647,234
301 fEASF SMENS IR 0 0 0
302 SZERFIBAC L SUNEE 4,123 3,548 575
303 7 fifi5iE # ST 4 0 0 0
IR 304 15T % FEEIEE 0 0 0
“ # 305 1% & AL ATl 0 0 0
| | |306 %4 fiisi # S0 0 0 0
; 307 ZDfthdH—ERFENSUNEE 3,220,807 16,304,975 -13,084,168
g H—EREBIURIEET(4) 3,224,930 16,308,523 -13,083,593
g 401 _XILFIS 1,312,646 1,505,657 -193,011
B 402 H1HEES TS 0 0 0
g)g # 403 H 15T FEA14E 0 0 0
F|404 RE A ffiaE 5 ET@E 0 0 0
405 %44 (5T FEE1E 0 0 0
406 ZDMDOY—EREHNER 0 0 0
H—ERETI EAEE) 1,312,646 1,505,657 -193,011
H—ERFEBIMEFZEEE(6) = (4)-(5) 1,912,284 14,802,866 -12,890,582
R EI R ERE(7)=(3)+(6) 48,021,250 68,559,066 -20,537,816
501 MEEREEEMESINE 0 0 0
502 hEREE (S B M S IR 0 0 0
" 503 RIEEESEASTLERTHEINE 0 0 0
#5504 [E7E 4 2 RANER 0 0 0
505 [E5E & EFTHIE 0 0 0
506 _Z O fth 45 Al 4R &F 0 0 0
;ﬁ AR EEE (8) 0 0 0
B 601 EASMHAZE 0 0 0
% 602 % EEFT{fiA 0 0 0
| 603 [ & T AE - o1 1,686,816 1 1,686,815
%604 EE#HBNS SR £ IARLE (FRE1%) -920,947 0 -920,947
" 605 B & EHAI TSI 0 0 0
606 SKEE% 0 0 0
607 ZDithDEERIE% 0 0 0
13RI B FE (9) 765,869 1 765,868
FRIIEREEE (10)=(8)-(9) ~765,869 -1 -765,868
LHE IR ZEEE(1 1) =(7)+(10) 47,255,381 68,559,065 -21,303,684
g BEAARHE B B2 28(12) 439,216,341 416,651,168 22,565,173
g LHARARRE RIS ZE8(13)=(11)+(12) 486,471,722 485,210,233 1,261,489
B E RS AREE(14) 0 0 0
Z Z D tth D FET £ HR A EE(15) 5,040,692 9,033,586 -3,992,894
ﬁ Z D th D FEIT £ F§ 7 £E(16) 53,698,467 55,027,478 -1,329,011
# 437,813,947 439,216,341 -1,402,394
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